(PCh 1 Solukions/ Mcthtlz

1) su) =1
§(2) = 1+3=4
§(3) = 1+3+5 =9

() =

14345 +1 =16

$(5) = 1+34S+F+9 =25

The pattan is that SMY=n" Poall neN. One way b see
thir visually o 1o divide an 1 by n box o) squany) info
o stquenw of L-shaped poah, %exampl&'-

T 9% 9 box o split vt L's ofstge

-H 1.3.5,7 9, 11,13,15 aud 17.

@ There can e Pound by someguerswork, as Pollows: Por vaniowes vatues
o a, P Hu longent b such that 2B <a* and compude
At o seetP it 5 1. You can cho save some e Dok by notizing
that a vust be odd | oternwine d-1bt would be eren.

a.__Jmgut b a=1b" Twir seanch yieldy the
g3 1T = %9-24=1D  faut Two exampla:

5 3 25-29=1

7 2y 49-72.l6= 5 &'5.2) and ("“i"l}
9 ) 3l-7-36=9

T 3 (21-2:49= 273

: PR A
a1 7892 Wi =1 pA /4



@ “Note. Two eMMQ an example of R equalion, whith i
dircwnsed in daqpv)u 32. Theu are suenad eMicient way)
b emmunal B solddions . One way fo view the sulution
» et (@h) 0 a sdidomi alb va WJAM
Ctmmoyimdiova{'h onddimal wanmber JZ . Forevampl,
1717 = L.elb?, while Jz =14z,

@ Bdow, | iave amam}al the umleeys 1-120 v Hine colunmm,
and identiBed the pames wping the Stensf Evafosthenss.

X@@x G M 3 ef.c’f% 90 91597
{f & g : - A 35 4 65 66 ¢ 95 96
@Ds s & Wm  EO¥p. GHAY:
Fo@ 7 . 4 @) wl W E) IS 18 @)
@ W @3) dh us @) P 3T o) d s
K @ 1 af @D af ©  #H 3A H b @Dy
G w oar 45 56 st @) 36 s (9) u6 wc
M @) H ! st & sd 0 37 @eh’ W ()
% 8 W 55 56 5¥ B % S € Wt
® @6 8 D O W e

Counting mimes in eash column gives The seow ¢

Tecum 1: 13
Team 2: 16

[nterstingly, you wmey obsens Hat tean 2 i q._h__wcpJ?'zz"fw the Loc 4
JLWM Hiare 120 nounds (lve wnitten the siye of Heedn deadl i
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ponclk), bk vawven by wioy than 4. You vight quen +hat this s T
o all tine, buct om Pack it i met: Remonle ably, Team 1 will take
te Leod Do the Pirgt fime ouly s 2emd 608,981, 813,029.
WW:N «Qaffm .aty}c'H*LeMan )

H 2 Suppose that 3=@.
Th,m thow ane p.qelN Mﬂ/\_Q@LV\_W Puckony suchthat

J3=plq, ie. 3q*=p"

Since 3 dividny 344, 3 divides P& This implies that
\JM Yu (ZQM K
E J*V p. L% Nt theu Imﬂiui”;dm‘t’f“
Weitng p=3- ¢ ('go\gm re__ﬂ'\)), it Dllous that 3¢=9¢"
o =3¢ Thale 3dvide @, Thi implieathat
3 divida q.

But since 3 divides beth p and q, Huy have a comwos
Puckmmallin all, Whidh i a condradiztion. . S Q.

Z Suppose that A7 e@..
Then Heone p.g eN  with vo S Lackons
suhfar  pla= X2, 1. 2p°=q

Since 2 g0 beum, @ 18 evew, hence ¢ Ly ewen.
o4 q=2r Prnsome relN.

Thwy 2p°= (20V= &7 (e p=dr
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Thorese p° & erven, o p_ia enven.

Bud thir weams thek beth p avd g are even, whiehiu
a conttadichion. ¢ So N7 € A.

@ For both poblerm, une the Pllowing acdige fin PPT:
: ' L T 1, 21
a= S'l: : bi‘. Sz_t c= S.;{-
whew s4 an odd, s>t and 34 hawe no
C commion Pac,’rmL

a} Either <=33 ,.f=1 cn =1l 43 will give a=33.
There crive the Bollowing fwo PPTy:

(331 33:;,1 3TH) = (33, 5uy, 5us)

=

(13, W3 Mo (33 5 ¢5)

Z.,

(ertherore will be aceepted).

l’)) Wewant <t so thet S;_iﬂ= 85 it.e. ¢ktt= 17F0.
Thew one two choten:

—— e

53‘3,{':[ C}/{M (rg[‘ |31"' \3:()

= (13,84,3%)

B . L4 L+-7_1 _
=1t que (17, S 2= (77 36,85)

[ethor will be accepted), ,
C-> Toth (@ and (b) have twe popible answens, shown above . p.4/4



